
Orders
p < 0.001

1

≤ 149 > 149
Orders

p < 0.001

2

≤ 55 > 55
Orders

p < 0.001

3

≤ 19 > 19
Orders

p < 0.001

4

≤ 5 > 5
Dividends
p < 0.001

5

≤ 65745> 65745
Orders

p < 0.001

6

≤ 2 > 2
Orders

p < 0.001

7

≤ 0 > 0

Node 8 (n = 115)

0
1e+05

Node 9 (n = 19)

0
1e+05

Node 10 (n = 27)

0
1e+05

Node 11 (n = 7)

0
1e+05

Wealth
p < 0.001

12

≤ 382712> 382712
Group

p < 0.001

13

≤ 0 > 0

Node 14 (n = 90)

0
1e+05

Node 15 (n = 17)

0
1e+05

Node 16 (n = 7)

0
1e+05

Orders
p = 0.047

17

≤ 31 > 31

Node 18 (n = 45)

0
1e+05

Wealth
p = 0.03

19

≤ 394510> 394510

Node 20 (n = 28)

0
1e+05

Node 21 (n = 7)

0
1e+05

Node 22 (n = 47)

0
1e+05

Orders
p = 0.001

23

≤ 280> 280

Node 24 (n = 15)

0
1e+05

Node 25 (n = 7)

0
1e+05


